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THM 348 Service Operations Management
Final Exam Answer Sheet
1. What tool can be used by management to track change in an important process variable over time? (1 Point)
Run Chart is the tool used by management to track change in an important process variable over time.

2. What are the main differences between a “Histogram” and a “Pareto Chart”? (2 Points)

While “Histogram” presents data collected over a period of time as a frequency distribution in bar-chart form, “Pareto Chart” orders problems by their relative frequency in a descending bar graph to focus efforts on the problem that offers the greatest potential improvement. 
3. What is “6 sigma” method? Who first was known as to successfully adopt this very method? (2 Points)

“6 sigma” is a rigorous and disciplined methodology to improve a firm’s operational performance by eliminating process defects. Motorola Company was the first known as to adopt this very method. 
4. Contrast “Abstract Questioning” to “Situational Vignette”? (2 Points)

While “Abstract Questioning” is an open-ended question used to screen potential employees by revealing a candidate’s ability to adapt and use interpersonal skills, “Situational Vignette” is a service encounter situation that can test a candidate’s ability to “think of his / her feet” and to use good judgment.
5. Define “Personalizing Customers”. Come out with a situation where personalizing customers’ needs are satisfied. (2 Points)

“Personalizing customers” are the ones who want interpersonal gratification, such as recognition and conversation. For example, a personalizing customer is the one who feels happy when hotel doormen / receptionist clerk/ waiter addresses / welcomes him / her with his first name.
6. During the past season, Deniz Club did not achieve very high occupancy rates despite a reservation system that was designed to keep the hotel fully booked. Apparently, prospective guests were making reservations that, for one reason or another, they failed to honor. A review of Front-desk records during the current peak period, when the Resort Hotel was fully booked, revealed the record of no-shows as shown in the below table:
	No-shows
	Probability
	Reservations Overbooked
	Cumulative Probability

	
	
	
	

	0
	0.08
	0
	0.00

	1
	0.13
	1
	0.10

	2
	0.11
	2
	0.25

	3
	0.14
	3
	0.42

	4
	0.10
	4
	0.51

	5
	0.12
	5
	0.59

	6
	0.09
	6
	0.75

	7
	0.08
	7
	0.85

	8
	0.06
	8
	0.89

	9
	0.05
	9
	0.94

	10
	0.04
	10
	0.98


Suppose that a vacant room (because of No Show) results in an opportunity loss of $ 70. 

a) Calculate the Expected Number of No Show Rooms. (2 Points)
· Expected number of no-show rooms = (0 * 0.08) + (1 * 0.13) + (2 * 0.11) + (3 * 0.14) + (4 * 0.10) + (5 * 0.12) + (6 * 0.09) + (7 * 0.08) + (8 * 0.06) + (9 * 0.05) + (10 * 0.04) = 0 + 0.13 + 0.22 + 0.42 + 0.40 + 0.60 + 0.54 + 0.56 + 0.48 + 0.45 + 0.40 = 4.20 rooms.

b) Calculate the Expected Opportunity Loss. (1 Point)

· Expected opportunity loss = 4.20 * 70 = $ 294.

In order to avoid some of this loss, Deniz Club management is considering an overbooking policy. Yet, if a guest holding a reservation is turned away (due to overbooking), other costs would be incurred. Deniz Club has made arrangements with a nearby Club (Zarife Club) to pay for the rooms of guests whom it cannot accommodate. Further, a penalty is associated with the loss of customer goodwill and the impact this has on future business. Management estimates this total loss to be approximately $ 150 per turned out guest.
c) Fill the below Overbooking Loss Table (3 Points)
	
	
	Reservations Overbooked

	No-shows
	Prob.
	0
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	

	0
	0.08
	0.00
	150.00
	300.00
	450.00
	600.00
	750.00
	900.00
	1,050.00
	1,200.00
	1,350.00
	1,500.00

	1
	0.13
	70.00
	0.00
	150.00
	300.00
	450.00
	600.00
	750.00
	900.00
	1,050.00
	1,200.00
	1,350.00

	2
	0.11
	140.00
	70.00
	0.00
	150.00
	300.00
	450.00
	600.00
	750.00
	900.00
	1,050.00
	1,200.00

	3
	0.14
	210.00
	140.00
	70.00
	0.00
	150.00
	300.00
	450.00
	600.00
	750.00
	900.00
	1,050.00

	4
	0.10
	280.00
	210.00
	140.00
	70.00
	0.00
	150.00
	300.00
	450.00
	600.00
	750.00
	900.00

	5
	0.12
	350.00
	280.00
	210.00
	140.00
	70.00
	0.00
	150.00
	300.00
	450.00
	600.00
	750.00

	6
	0.09
	420.00
	350.00
	280.00
	210.00
	140.00
	70.00
	0.00
	150.00
	300.00
	450.00
	600.00

	7
	0.08
	490.00
	420.00
	350.00
	280.00
	210.00
	140.00
	70.00
	0.00
	150.00
	300.00
	450.00

	8
	0.06
	560.00
	490.00
	420.00
	350.00
	280.00
	210.00
	140.00
	70.00
	0.00
	150.00
	300.00

	9
	0.05
	630.00
	560.00
	490.00
	420.00
	350.00
	280.00
	210.00
	140.00
	70.00
	0.00
	150.00

	10
	0.04
	700.00
	630.00
	560.00
	490.00
	420.00
	350.00
	280.00
	210.00
	140.00
	70.00
	0.00

	
	
	
	
	
	
	
	
	
	
	
	
	

	Expected
	-------
	$294.00
	$241.60
	$217.80
	$218.20
	$249.40
	$302.60
	$382.20
	$481.60
	$598.60
	$728.80
	$870.00

	Loss ($)
	
	
	
	
	
	
	
	
	
	
	
	


d) How many rooms shall be overbooked? Why? (2 Points)
As can be seen from the above table, 2 rooms shall be overbooked because this scenario corresponds with the least expected loss.

N.B: Your answers to parts a), b) c) & d) shall be rounded to the nearest cent.
7. How can you balance more or less demand and supply by increasing customer participation? What disadvantage(s) that service operation companies face while increasing customer participation? (3 Points)
As customers participate more and more in the process, fewer employees are needed to serve them. Therefore, customers (as co-producers) provide labor just at the moment it is required. Thus, capacity can be adjusted for different supply levels. This helps balance demand and supply.
On the other hand, increased customer participation has some disadvantages like:
· Quality of labor is not completely under the service manager’s control.

· Output can be well different than the one expected or promised.

8.  List any 2 advantages and 2 disadvantages of “Focused Network”? (2 Points)

Advantages of focused network might be as follows:

· Increase customer accessibility
· Enable the service to function (ex. Fedex)

· Reach a mass market

· Prevent imitation from competitors

· Reduces financial risk of the firm

Disadvantages of focused network might be as follows:

· Losing control over the operation

· Standardization problems

· Overexpansion risk

6. Host governments play a significant role in restricting the growth of service globalization. Can you come up with 2 examples clarifying this point? What might be the rationale behind which host governments actively act as to restrict the growth of service globalization? (3 Points)

Examples clarifying how host governments play a significant role in restricting the growth of service globalization might be:
· Making it difficult to repatriate funds (i.e. take profits out of the host country)

· Banning the sales of insurance by foreign firms

· Giving preferential treatment to local shippers

· Placing restrictions on the international flow of information

· Creating delays in the processing of licensing agreements

· Restricting foreign airlines’’ landing rights and the ability to pick up passengers at an intermediate stop

The rationale behind those restrictions by host governments is to protect / minimize the economic and cultural threats in the import of unrestricted foreign services.

Good Luck
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